- projektowana niweleta
- teren istniejgcy

- row lewostronny
- réow prawostronny

A.n.
[m)
Z |
ul}
(O]
L
—
00°0 ; ©1°CSC s < [} CSC [CS61
&3
| mm
| | VINVMOOVYO YOINvaol | |17 n -
900 Jwodneaod noNmAd3y rosd oaNoN|  [HH¢SE X Hhese 8¢ o
| 0 5
\ a
\_ o)
_
_ I
|
| N
! "
| %
\_ N
810 \ 281Gz dm.mmm% ¢SCSC 199'8¢
| N
\ ©
0
\_ _
Il o0
_ -M
\ 0 ©
| ﬂ —O
| - .
zz0 62292 .:.mmN& 687CGC 18C°68
@
O]
A_u1.
___‘_w
|
L1°0 \ 09232 Nw.mmNWo GC'eGC XA
‘ )
/ Yo
| — )
| :
| L
\ _
10 \ Y1 oGz @m.mmw% £8°¢GC 77 0C
/ 0
| B -
\ 16 —o
| @ﬂ 0) N)
/ S
020 \ 5/¢Gz wm;ﬁmN% 8evsel O Zy8
| dg 0
/ "o i
/ B -
\_ .
2L°0 \ oGz memm% 66 %S¢ 1G1°0S
‘ 0
/ Y
Il At w
/ 0
| I
\ 2
910 [ 68vSe 166l [65°6S¢ 4%
/ )
- <+
‘\ e |®
- N
/ |
j :
)
0
9
|
810 16/°9G¢ 19°9G¢C 6¢9Y
IR X
0
¥
0 A
e _
S I,
ol 2 0
/ = -
/ ST f "
c = | —O
S| ® - . o
= G (G| 0T LST 1£°66
m ;
(0] b~
= 1 ¥9'78
© —
7 |
[77]
.mJV. I
o 0
= %)
S v
- 87857 £1'85C 6y L
= CCES Y 3eRely
N
ml A
> 0
@ |
(]
.m l
- 10
Al o
0 —O
i M)
|
Q.%Na 62657 7098
)
l
N
0
O )
© f
< |_
910 \ /. 652 m_/_,__ /G 09¢C % 1 7°09¢ /¥°0¢
/ O :,I.v
/ - ¢
\ N
_
__2 —
° N
N
0 0
0 o)
.%.N@N% L1297 O Sv'8L
Q M
y I
)
I -
I
)
i
|
6609218992 978
0
N
N
7o
)
T_w o
| @
y'G9C X 92°69¢C 9ges| T
4
Al
1
_
12992 | lif [¢1-992 9289
0
i
|
@.QN% 86°99C 16'TY
o)
0
)
_
Ilf
¥
¥v'89z | [ O [
f ol | 2
— Q\
.%.%N& 88897| _ <t| [958
O4O
mg 531
.1. 1
Ty 1o
i v ©
0v'0LT [, |LT0LC /9785
5 0O
N
SOOTEANN — vy
ez |0 90°0%
Lo
ny
|
%.EN% 69'1L2| O €9'1Z
00
0) .
" N
< 00
19 i —o
LY ] N
i
|
.S,RNWM vLSLT /98L
£V __N 5 922,
_ T
S VLT 4 05°19
)
I
i
o
o]
/ S I ©
8L'0 7 . w,p .E@R& sz O c0ee
© ) O
/ Q N 0 N
/ o = ¢ I
\ W o | |
/ g L -
/ 2 - o BN
S N Q\
/ 2 3 I
B © co8Le| 016
. / = Q . . ..
) 2 o 1%'8/C % 0982 80C8
Y O 29'8LT |~ 89°SL
/ oo
/ I
iy
|
dm.oww% 11082 95 Ly
D <
g O
4
_7 0
w9
% _
_
- [€0]
L1°0 0528 [, [£1C8¢C 601 —O
& N
N
e
190
50087 ___:zw — 16/
_
L) o)
¥1°0 7 16e8¢ [ |Leesz| Oy _ (62799
<5 0pQ
/ 53 ) M)
i <
. / IR el A N
z1°0 \ / Loysz [ Joe'esz| |7 Il [8eos
\ o olfer |
; / - _L AR
/ 1_4 0
/ 1gvee| s M feve
/ .
/ i
|
| orvez i i 0
05'687 \ 62°G87 e lg
o Q\
™
T
0
I
i
|
.%.%Nz 55987 665
N
2 A\
S .
" <
| N
YT
_|
00°88¢ | [ (87,82 89S/
%)
) <+
f —
QN
@m.www% 59'88¢ 1976
0
0
)
_
l
)
N
ANTAN N —\ 8505
ip
i o2
/ 0Z°062 O
¥Z°0 \ 26'06¢C 89°06C| M - —| [9£°6¢
& T 50
| 0 Il 00
| X 1
% -
. V) _J |
16’167 IE 6L 1
N
/ j E
gL'16Z ~
120 / 5o 06162 [, (5L 16C yve| OV
/ T & :
) 0
ol > )
)
S Dmn |
10
q8e T
/ Ak i
ol L -
b70 \ c9°¢6¢C ol = . . L .
] E oy mmm& 61067 579y
(' 0y
0
J_z
I
[ AN Y
S0 ] Q;&m% 86°¢C6C rANA
0 m [QV
O —O
e 2
_
|
810 | zscoz ¥9'¥67 9% 767 8078
J X
I
Q <
MY
_\ D
$ .
| ' )
\_ = 0
0Z'0 | NB@N% 6767 JA_v V6 Ly
I
| wl |
0y
_ .
On
\ _
i
0Z'0 .o*mmN% 0¢'G6¢C 1/19°Gl
0
M —
0
_\ N —O
\ i o
I __HW
S1L°0 7676z i.mmmwm 65°G6C 7618
1
| <0
! )
_1
/ 7
\ L
ozo [ ecgez .om.@mm% 00'96¢ 190°0S
O
| to
| i<
| © )l
‘ | 00 I I .
cc 0 | sszgez RS 9G'96¢ % v$96¢ /1°0¢
_ O 53
| a | %
. an i ! O
0Z'0 _ /962 |—~'[25'96 000 | g
> O o\
- O .
VI
N & 2 o
A w O 3 —
D : = | |D
L ~ f— =
O \ > [ ¢
N i I > N
O @) Ll ] = ) T
@ = <
) - L = W 04
ol z = 0|z
\ w > >~
< - - o &
— 3 WU |z | W pa i
p— < Z || Z Ll @)
X 0 [s| o S | =
LL — 2 W | w n 110
N | | N ] O | =
m ¥ |W| o L O | x




